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 � ������ � �� ���� �
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•  = P(� ������ �� +���� ��)
= P(���� 
���� � H0|H0 ���
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•  = P(� ������ �� *���� ��)
= P(� �	
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	� ����� ��� �	�� �� � �	�� ��	�
�� � ���	�� ������ 
����� �� ����� � ���� �� �� ������� � �	�� ��	�
��� � ���	�	

� �� ��� 
	�� 0# � � ������ �	��� 
	� ����� ��� �	�� ��
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H0 :  = 0 =⇒ H0 :  = 3.5

H1 :  �= 0 =⇒ H1 :  �= 3.5
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P = 95 % =⇒  = 0.05 =⇒ ���� � ���� �����

z/2 = z0.025 = 1.96�

��� �� −z/2 ≤ Z ≤ z/2 =⇒ �� � ����� �

���� 
	�	H0

Z���	��������� � � �����
�� �� � �	
�� �
� ���

−1.96 < Z(−1.22) < 1.96.

����� %�( 	�$����� � ��	����� �� 	��� 	� � � ������

��� ���� ) ��	��! Z $��$� � 	������ �	�������$�

"��	��(� �	
�� �
� � � 
	� ����� ��  = 0.05�
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1 ��� �� ��������� �*�	�� ) � ��� �� +&� �������� �*�� $� � $� ��� 	��� ������ ���� � �� ��� ������) ���$� Z
�	�������$��� 	� ����� t
�	�������$�* $� �����
� ��	����� �$����$��� ���t
���$	������� *� n − 1 � $�� ����� ��������
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H0 :  = 0 =⇒ H0 :  = 220

H1 :  < 0 =⇒ H1 :  < 220
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�� �� �� ������ �� � � �� � ������� �� � ��� �� ������

�	�
���� ����	�Z ���� �
������ �
�����������

�� $���
��� 	
����#����� ��	
���� � 
��������

7 �	�	�
�� � �����
�� �� ���� �� � � ������ ��� �������

� ������ Z ����� ;� � ��� ��<��
	���� �� �	������ ��� �	#

� �

H0 ���� 
���� � � �� �� Z < −z .

7 � �� �	����	�	� ������ � �� ��� � � � �� ��	
� ��	�

�	�
�	
 ��	�������	� � �� � ���� Z# � � �� � ����� � 	��

�� �
��� �	��	�������z 	�� � ����	�	�� � ���	�����

Z���	������� �
�= ������
� 	�� �� 	� � ����� ���� ���

�� � ���� � �� �		��� �
��� �� 	p���	�������2 ��	�	���

�� �������� �� � ���
���	� �	� ����#� � � � �� �� ��� ����

��� � ������ ����� ���	���� p���	�������� ���� �� ��
��� � �����	�� 	� � �� ���� � ��� ��	����� �	���� �� �� ��

H1 :  < 0� ������� ����� �� �� ��H1 :  > 0�

�� z���	�������	�)� p���	���������	���	(3

H0 ���� 
���� � � �� �� P < .

%��������& ��	�� ��	�
�� � ���	�� = 214.69#H0 :  =
220# H1 :  < 220#  = 0.01# Z = −3.54#
P = 0.0002�

7 � �� �� P <  (0.0002 < 0.01)# ���� 
���� �

����� 
	� ����� ��������� �� �� � � �� �� � ��� �
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����
 �� �������
�� T ���� �
����� �
���������

% ����	
� ����	�� �� � ��� ���
�� �
��� ���
� ����	�	
 �� �

����	
 �� ����� /02 ��� '������ �������� ��� �	����

��� �	�� �� 	� � 	�	�� ��� �
��� ���
� �� ����
� ���� ������

�� +2 �� ����� �� �� ���	���� ��	�������	�� ���

360, 370, 385, 367, 355, 365, 375, 330, 342, 320.

������	�� � �	
�� �	�	������� �� �� � ��� ���
�� �
��� ���
�

�� ����� /02 ��= > � �	�� �	��	-�� ������	�� 05 �

�� !
���������� ��	
����

> � �	�� �� �� ��� �� ��� �� �� � ����
� �� � � ��� �����

� ��� �� �� 	?	�	��� ���� �� � �� ��� ���� ���	�� 
	�� � ��

� ��� 
	��#� �	����	�� ��� 
	� ����� � � ���	�	� �� ��� 
	��#

� �����	t������� ������
� T ���� �
����� �
��������

����1 ��� ����
� �� �� � �� ��� ���� ���	�� 
	�� � �� ��� �


	��  �� � ������� � �� ��� ����� ���	�� 
	��� ������

s�

H0 :  = 0 =⇒ H0 :  = 350

H1 :  �= 0 =⇒ H1 :  �= 350
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����� ������� ��������� � �����
���� � 	
�
#��

��������

� ���

����
��� � ��������

1 ���������� �
����	 � ������
� ����� 	��� �
��� �	

� ������� ��	�������		����	�� �	
	� ����� � � �� ��
�

 ���	����
� ���
��������� �T ���� �
����� �
�����������

�� $���
��� 	
����#����� ��	
����

��� ��−t/2<t<t/2 =⇒ �� � ����� � ���� 
	�	H0.

7 � �� �� t0.025(9) = 2.26# � ��� ��� ���	�
	�� ��

t = 1.065# � �	
�� �
� � � 
	� ����� ��  = 0.05�
 �� � ���� �� �� � ��� ���
�� �
��� ���
� �	�� /02 ���

'�������& 7 � � 	��� Z ����� � �����	
 ��	�������	#

� ����� � � �	� 	���	�	� ������ �	��� � �� �	�� �����
	�� ���

�� ��� ���� p���	�������	� �	�
�� � H0 ���� 
���� �

� �� �� P < �

2 � *�� �� p
�	�������$�� ( � ����� $�	� ���	��� $���$�� �������� �� P�
3 � �� �� $*��� �$�	�� $���� � 	� ���� ��������� ��� ���������� ��� �� $�) ���� p
�	�������$�����) � �	��� �� 	� *��� ��!��,�� �$���$��

���
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